Bl 32 b FH i K2 109 22 4 B a8 L prig 4 238
RAreA 2151 EM IR ABEL R A
£ gMARE RA B

%18 #1787

EEFR

1$€i%#‘8%,‘%@% 100%‘0

AR A H KRR S ERBFE AL R AL -
32UBRMBELRELERMNGES > MABEEHMIIE R FAR T

&

. Apply elementary row operations to transform the following matrix first into echelon form
and then into reduced echelon form. (10 %)

3 -7 8 -5 8 9

[0 3 -6 64——5]
3 -9 12 -9 6 15

. Determine all solutions of Ax = b, where 4 =

3 5 -4 7
-3 -2 4] and b = [—1 (10 )
6 1 -8 —4

0 1 2
. Find the inverse of the matrix A ={1 0 3], if it exists. (10 %4%)
4 -3 8

. Let B be the » x n matrix, compute det(B). (10 %)
111 -« 1

1 2 2 .-

B=11 2 3

e W N

12 3 - n

. LetAz[

0.6 0.3

04 0 7]. Analyze the long-term behavior of the dynamical system defined

by Xis1 = Axg (k=0,1,2,..), with xo = | g' g] (15 %)

1 2 1 3
. Let by = [0},112 = 1],b3 = —ll,andx: —5|. Show that the set
3 8 2 4

B = {by, b,, b3} is a basis of R3. Find [x]p, for the x given above. (15 %)

. Determine the kernel and the range of the transformation defined by the following matrix.

(15 %)
1 2 3
A=|0 -1 1
1 1 4

. Find a set of orthonormal basis which is orthogonal to the vector (1, -2, -3). (15 %)



